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   [ V⁄¬Œ⁄r @MO⁄V⁄◊⁄fl : 80  

 [ Max. Marks : 80 

Qn. 
Nos. 

Ans. 
Key 

Value Points 
Marks 

allotted 

I. 1.  

 

Ans. :  

 (B) 18 1 

A 
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Qn. 
Nos. 

Ans. 
Key 

Value Points 
Marks 

allotted 

 2.  

 

 

 
Ans. :  

 (C) 8 cm 1 

 3.  

  
Ans. :  

 (A) 

2

1

2

1

2

1
c

c

b

b

a

a
==  

1 

 4.  

 
Ans. :  

 (D) 22 yx +  1 
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Ans. 
Key 

Value Points 
Marks 
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 5.  

  
Ans. :  

 (C) 360 1 

 6.  

 
Ans. :  

 (D) 1 1 

 7.   

 

 
Ans. :  

 (B) 3 1 

 8.  

 
Ans. :  

 (A) 
6
3  

1 
 



81-U 4 CCE RR 
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Qn. 
Nos. Value Points Marks 

allotted 

II.   

 9. 

 

Ans. :  

 ][2 nn aanS +=   
2
nS n = [ 2a + ( n – 1 ) d ] 

1 

 10.  

Ans. :  

  1 

 11.  

Ans. :  

 θ×
π
360

2r   2
360

rπ×θ  
1 

 12.  

Ans. :  

 

 1 

 13.  

Ans. :  

  1 

∴ 96  =  3 × 2 × 2 × 2 × 2 × 2 ½ 
 

  ½ 
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Qn. 
Nos. Value Points Marks 

allotted 

 14.  

 

Ans. :  

 AB : AC  =  
AC
AB  

sin θ  =  
AC
AB  

sin 30°  =  
AC
AB  ½ 

 
AC
AB

=
2
1  ∴ AB : AC  =  1 : 2 ½ 

1 

III.  

 15. 

 

 

Ans. :  

   

 x + y  =  14 ⇒  y  =  14 – x (ii) 

x – y  =  4 (i)  

  y  =  14 – x ½  

  x – ( 14 – x ) = 4 

 x – 14 + x  =  4 

 2x  =  4 + 14 ½  
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  (21)506-RR(A)  

Qn. 
Nos. Value Points Marks 

allotted 

 2x  =  18  ⇒   x  =  
2

18    ⇒   x  = 9 ½ 
 

   

  y  =  14 – x  

 y  =  14 – 9 ⇒    y  =  5   ½ 2 

   

  
 x  +  y  =  14 (i) 

 x  –  y  =  4 (ii) [ (i) – (ii) ] ½ 
 (–) (+) (–) 

  2y  =  10  

  y  =  
2

10  ⇒  y  =  5 ½ 
 

  

 x + 5  =  14 ½ 

 x  =  14 – 5 

 x  =  9 ½ 2 

   

   

 x + y – 14  =  0 1a  =  1 1b  =  1 1c  =  – 14 

x – y – 4  =  0 2a  =  1 2b  =  – 1 2c  =  – 4 
 

 x y 1 

1 

–  1 

– 14 

– 4 

1 

1 

1 

– 1 
 

 

 11
1

414144 −−
=

+−
=

−−
yx

 
 

 ½ 
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 2
1

1018 −
=

−
=

−
yx

 ½ 
 

 ∴ 
2

1
18 −

=
−

x
 ∴ 

2
1

10 −
=

−
y

 ½ 
 

  – 2x  =  – 8  – 2y  =  – 10 

 x  =  
2

18
−
−

  y  =  
2

10
−
−

 ½ 

 x  =  9  y  =  5 2 

 16. 

 

Ans. :  

   =  14 × 14 =  196 cm 2  ½  

   =  
2

14  cm  =  7 cm 

  =  
2
7   =  3·5 cm 

 

 ∴   =  2rπ  

  =  
7
22

 × 3·5 × 3·5 ½ 

  =  38·5 cm2   

 ∴              =  4 × 38·5  
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Qn. 
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  =  154 cm 2  ½ 

              =  ( 196 – 154 )  =  42 cm2  ½ 2 

 17.  

Ans. :  

 ( 2,  3 ) ( 4,  1 )  

),(),( 2211 yxyx  ½ 
 

  d  =  2
12

2
12 )()( yyxx −+−  ½ 

  d  =  22 )31()24( −+−  

  d  =  22 )2()2( −+  ½ 

  d  =  44 +  

  d  =  8  

  d =  22  ½ 2 

 18. 

 

Ans. :  

 ( 1,  – 1 )  ( – 4,  6 )  ( – 3,  – 5 ) 

),(),(),( 332211 yxyxyx  ½ 
 

 = [ ])()()(
2
1

213132321 yyxyyxyyx −+−+−  ½ 
 

  =  
2
1  [ 1 ( 6 – ( – 5 ) ) + ( – 4 ) ( – 5 – ( – 1 ) ) + ( – 3 ) ( – 1 – 6 ) ] 

 =  
2
1  [ 11 + 16 + 21 ]  ½ 

 =  
2
1  × 48 
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Qn. 
Nos. Value Points Marks 
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 =  24 cm2  ½ 

 ∴  24 cm 2 . 2 

 19.  

Ans. :  

    5 + 3     

 b ≠  0   

    5 + 3   =  
b
a  ½ 

 

 ,  35 =−
b
a  

 

  53 −=
b
a  

  
b

ba 5
3

−
=  ½ 

 

  5−
b
a  

  3    

   
3

  ½  

 35 +
  

  
35 +     ∴ ½ 2 
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 20. 

 

Ans. :  

 

  

 Δ ABC ~ Δ DEF   

 ∴  2

2

EF
BC

=  ½ 
 

  
2

2

)12(100
64 BC

=  
 

  
144100

64 2BC
=  ½ 

 

  2
100

14464
BC=

×
 

 

  BC=
×
10

128
 ½ 

 9·6  =  BC  

 ∴ BC  =  9·6 cm ½ 2 
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  ½  

 Δ DCE  Δ ABE  
i) ABE  =  CDE  (  Q  90° ) 

ii) E  =  E  ( )  

 ∴ Δ ABE  ~  Δ DCE ½  

  
AB
CD

BE
DE

=  

 
AB
6

28
4

=  ½ 
 

 4 × AB  =  28 × 6 

 AB  =  
4

628×
 ⇒  AB  =  x  =  42 m ½ 

2 

   

 AB || CD,  according to the Thales theorem ( Corollaries )  

 
AB
CD

BE
DE

=  ½ 
 

 
AB
6

28
4

=  ½ 

4 × AB  =  6 × 28  

 AB  =  
4

628×
 ⇒  42 ½ 

 

 ∴ AB  =  x  =  42 m ½ 2 
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 21. 

 

 

Ans. :  

 

 

  ½  

  Δ BFE  Δ AFD   

 i) AFD  =  BFE     

ii) ADF  =  EFB     

iii) DAF  =  BEF    ( Q  AD || BC  )  ½  

  ∴ Δ AFD ~ Δ BFE  

  
FB
DF

EF
FA

=  ½ 
 

   FA × FB  =  EF × DF  

 DF × EF  =  FB × FA ½ 2 
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 22. 

 

Ans. :  

 P ( x )  =  42 −+bxax  ∴ c  =  – 4  

 
α + β  =  

4
1

 α × β  =  – 1 ½ 

a
b−

=
4
1  – 1  =  

aa
c 4−

=  

a  =  – 4b   → (i) – a  =  – 4 ½ 

  a  =  4 ½  

   

 4 =  – 4b  

b=
− 4
4

 ⇒  b  =  – 1 ½ 
2 
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allotted 

 p ( x )  =  2 2x  + 3x + 1 g ( x )  =  x + 2  

   2x – 1 

 x + 2 2 2x  + 3x + 1 

  2 2x  + 4x  1 
  (–) (–) 

   –  x  +  1 

   –  x  –  2 
   (+) (+) 

    +  3  

 ∴   q ( x )  =  2x – 1 ½  

    r ( x )  =  3 ½ 2 

 23.  

Ans. :  

 P ( x )  =  2x  – x – ( 2k + 2 )   

 0  =  ( – 4 ) 2  – ( – 4 ) – ( 2k + 2 )  ½  

 0  =  16 + 4 – 2k – 2 ½  

 0  =  18 – 2k   

 2k  =  18  

 k  =  
2

18  ½ 
 

 k  =  9 ½ 2 
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 24.  

Ans. :  

 2x  – 3x – 10  =  0  

 2ax  + bx + c  =  0,   a = 1,  b =  – 3,   c =  – 10  

 x  =  
a

acbb
2

42 −±−
 ½ 

 

 x  =  
)1(2

)10()1(4)3()3( 2 −−−±−−
 ½ 

 

 
x  =  

2
4093 +±

 
 

 
x  =  

2
493 ±

  ½ 
 

 
x  =  

2
73 ±

 
 

 
x  =  

2
73 +

 x  =  
2

73 −
 

x  =  
2

10  x  =  
2
4−

 ½ 

x  =  5 x  =  – 2 2 

 25. 
 

Ans. :  

 cosec θ  =  
12
13  ⎟⎟

⎠

⎞
⎜⎜
⎝

⎛
θ

=θ∴
sin

1eccos  
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allotted 

 
12
13

sin
1

=
θ

 

sin θ  =  
13
12  

 

 ½ 

 

 

 sin θ  =  
13
12

=
AC
AB  B  =  90°,  AC diagonal ½ 

  222 BCABAC +=  

  ( 13 ) 2  =  ( 12 ) 2  + 2BC    

 ∴ cos θ  =  
AC
BC  169  =  144 + 2BC   ½ 

  25  =  2BC    

 cos θ  =  
13
5  BC  =  5 ½ 

2 

 26.  

Ans. :  

 L.H.S. = [ tan A × sin A ] + cos A  

=  
A
A

cos
sin

 × sin A + cos A  ½ 

=  
A
A

cos
sin2

 + cos A  ½ 

=  
A

AA
cos

cossin 22 +
 ⇒  

Acos
1

 ½ 

  ⇒  sec A  =  R.H.S. ½ 2 

 27.  

Ans. :  

   180° 
  – 60° 
  120°  
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Nos. Value Points Marks 

allotted 

 

   i)   — ½ 

  ii) — ½ 

  iii)  — ½ + ½   2 

 28. 

 

Ans. :  

   =  S  =  { 1,  2,  3,  4,  5,  .... 90 } 

 ∴ n ( s )  =  90 ½  

     A  =  {  } 

 A  =  { 1,  4,  9,  16,  25,  36,  49,  64,  81 } ½ 

 n ( A )  =  9  
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Qn. 
Nos. Value Points Marks 
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 ∴ Probability   

 P ( A )  =  
)(
)(

Sn
An

 ½ 
 

 
 P ( A )  =  

90
9  ½ 

2 

 29. 
 

Ans. :  

   =  9 cm 

  =  6 cm 

∴   =  ?  

           =   

 hrr 23
3
4

π=π  ½ 
 

 7
22999

7
22

3
4

=××××  × 6 × 6 × h  ½ 
 

 
 

663
9994

××
×××

  =  h  ½ 

 27 cm  =  h   

 ∴   27 cm.  ½ 2 
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allotted 

 30. 
 

Ans. :  

 

  

   =  3a  

  64  =  3a  

    =  a   ½ 

  a  =  4 cm  

 ∴  

  =  2 ( lb + bh + hl )  ½ 

  =  2 ( ( 8 ) ( 4 ) + ( 4 ) ( 4 ) + ( 4 ) ( 8 ) ) 

  =  2 ( 32 + 16 + 32 )  ½ 

  =  2 × 80 

  =  160 cm 2   ½ 2 
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Qn. 
Nos. Value Points Marks 

allotted 

IV.  

 31. 

 

 

Ans. :  

 

 

  ½  

 :  

  ½  

  : BP  =  BQ  ½  

   

In  Δ APB  and  Δ AQB 

APB  = AQB  = 90°  1 

hyp AB  =  hyp AB  

 AP  =  AQ 

 

 

∴ Δ APB  ≅  Δ AQB   

 ∴ BP = BQ  

RHS theorem 

CPCT ½ 
 

3 
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  ½  

  

                          

                                              PQ  =  PR    ½  

 

 ½  

  Δ ORP  Δ OQP    

  OQ  =  OR  ( ) 

 OP  =  OP    ( )  1  

 Δ OQP  =  Δ ORP  ( RHS ) 

∴ PQ  =  PR  ( CPCT )  ½  
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Qn. 
Nos. Value Points Marks 
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  ½  

  AB    OC   

  
C  = 90°,  OB   Δ OCB,    is diagonal  

  222 CBOCOB +=  ½ 

 222 )3()5( BC+=  ½ 

 25  =  9 + 2BC  

 25 – 9  =  2BC  

 16  =  2BC  

 BC  =  16   =  4 cm ½  

 BC  =  AC    AB  =  AC + BC  

4 cm = AC   =  4 + 4 ½ 

  AB  =  8 cm  

 ∴  = 8 cm ½ 3 
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allotted 

 32. 

 
Ans. :  

 

  

 i)  Δ ABC 1½ 

 ii)   ½ 

 iii)   3B C l  || CB5   ½ 

 iv)   A l C l || AC  ½ 3 
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Qn. 
Nos. Value Points Marks 

allotted 

 33. 

 

Ans. :  

  

Family size 

 

No. of families 

 

1 — 3 7   = 8 

∴    3 – 5 

                       l = 3 

       h  =  2 

 

            1f  = 8 1 

3 — 5 8 

5 — 7 2 

7 — 9 2 

9 — 11 1 

 N = 20 
 

 

                                          0f  = 7 
 

                                             2f  =  2 
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allotted 

 
∴   =  L + h

fff

ff
×

⎥
⎥

⎦

⎤

⎢
⎢

⎣

⎡

−−

−

201

01
2

 ½ 
 

   =  3 + ⎥
⎦

⎤
⎢
⎣

⎡
−−×

−
27)82(

78  × 2 ½ 
 

   =  3 + ⎥
⎦

⎤
⎢
⎣

⎡
−− 2716

1  × 2 ½ 
 

   =  3 + 
7
2

 
 

   =  3 + 0·28 

  =  3·28  

 ∴   3·28  ½ 3 

 OR  

   C.f.  10
2

20
2

==
N  

15-20 2 2 ∴    [  25 – 30 ] 

       l  =  25                1 

 

    c.f.  =  5    

20-25 3 5 

25-30 6 11 

30-35 4 15 

35-40 5 20 

 N = 20  
 

 

      f  =  6    

     h  =  5     
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allotted 

 
∴  Median  =  L + 

⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢

⎣

⎡
−

f

fcN ..2 × h  ½ 

 

   =  25 + ⎥
⎦

⎤
⎢
⎣

⎡ −
6

510
 × 5 ½ 

 

   =  25 + ⎥
⎦

⎤
⎢
⎣

⎡
6
5  × 5 

 

   =  25 + 4·16 ½ 

  =  29·16  

 ∴  = 29·16 ½ 3 

 34. 

 

 

Ans. :  
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allotted 

 

 

  ½  

 ∴    PQ  =  350  m  

    QR = x   

  60°   PM || PR  

  MPR  =  PRQ  

  60°  =  PRQ   ½  

 PRQ  = 60°  PQR  = 90°     Δ PQR  

 ∴ tan θ  =  
QR
PQ  ½ 

 tan 60°  =  
QR

350
 ( But  tan 60°  =  3  )  ½ 

 

  
QR

350
3 =  ½ 

 

  QR  =  
3

350
 

 QR  =  50 m  

 = 50 m ½ 3 
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  Δ ABD ,  tan θ  =  

BP
AB

  Δ DPC ,  tan θ  =  
PD
DC

 1 

tan 30°  =  
BP

340
 tan 45°  =  

PD
50

 

BP
340

3
1

=  1  =  
PD
50

 

BP  =  3340 ×  

BP  =  40 × 3 PD  =  50 m 1 

BP  =  120 m  

 ∴   

   BD  =  BP + PD  

  BD  =  120 + 50 ½ 

  BD  =  170 m  

 ∴  = 170 m ½ 3 
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 35. 

 

Ans. :     

     

 50 2 100 

 55 8 98 

 60 12 90 

 65 24 78 

  70 38 54 

 75 16 6 
 

 

 ∴ Coordinate  

 ( 50,  100 )  ( 55,  98 )  ( 60,  90 ) 

 ( 65,  78 )  ( 70,  54 )  ( 75,  16 )  

   Table —  1 

  Plotting the ogive —  2 3 
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 36. 
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Ans. : 

   1r  =  12 cm,   2r  =  3 cm,   1h  =  20 cm,   2h  =  ? 
 

    =⇒=⇒= 2
22

1

2

1 20
3

12 h
hh

h

r

r
 5 cm 1 

 

 ∴    

   =  ⎟
⎠
⎞⎜

⎝
⎛ ++π 21

2
2

2
13

1 rrrrh  ½ 
 

   =  ⎟
⎠
⎞⎜

⎝
⎛ ++×× )3()12()3()12(15

7
22

3
1 22  ½ 

 

   =  
7

110
 × ( 144 + 9 + 36 )  ½ 

 

   =  
7

110
 × 189 

  =  2970 cm3 .  

 ∴  2970 cm3  ½ 3 

   

   r  =  1 m 

  r  = 1 m 

  h  = 4 m 

                         =    +  2                           ½   

   =  ⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
π+π 32

3
22 rhr  

  =  32
3
4 rhr π+π  

  =  ⎥
⎦

⎤
⎢
⎣

⎡
+π rhr

3
42  

 

   =  ⎥
⎦

⎤
⎢
⎣

⎡
+× )1(

3
44)1(

7
22 2  ½ 
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   =  3m
3

16
7
22

×  ½ 
 

   =  3)100(
21

352
×  cm3  1 m = 100 cm ½ 

 

   =  
100021

1000000352
×

×
 litres ½ 

 

   =  
21

352000  

  =  16,761·9 litres ½  

  16,761·9   3 

V. 37. 

 

Ans. :  

 2484 =+ aa  

a + 3d + a + 7d  =  24 

 2a + 10d  =  24  

  a + 5d  =  12 ... (i) 1  

 44106 =+ aa  

a + 5d + a + 9d  =  44 

 2a + 14d  = 44  

  a + 7d  =  22 ... (ii) 1  

 (ii) — (i)  

  a  +  7d  =  22  ½ 

 a  +  5d  =  12 
 (–)   (–) (–) a + 5 ( 5 )  = 12 

 2d  =  10  a + 25  =  12 

 d  =  
2

10   a  =  12 – 25 

   d  =  5      a  =  – 13    ½  
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 ∴    

  a, a + d  a + 2d  

 – 13, – 13 + 5, – 13 + 10 ½  

  – 13,    – 8,   – 3  ½ 4 

 38.  

Ans. :  

 

  

   :   ABC   ABC  =  90° ½  

 :  222 ACBCAB =+  ½  

 :    BD ⊥ AC  ½  

 Proof : 

    

 ABC   ADB  

ABC  = ADB  = 90° 

BAD    

∴  ABC ~  ADB   

⇒  
AB
AC

AD
AB

=   AA 1 
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 ∴ 2AB  =  AC × AD    ... (i) 

        ABC    BDC   

 
ABC  = BDC  = 90° 

 ACB  =    

∴  ABC  ~  BDC    1 

⇒  
BC
AC

DC
BC

=  

 2BC  =  AC × DC    ... (ii)  AA  

(i) + (ii) 

=+ 22 BCAB  AC × AD + AC × DC  

  =  AC ( AD + DC ) 

  =  AC × AC  AD + DC = AC ½ 

 222 ACBCAB =+  4 

   

 

  

  ABC ,   ABC  = 90°   ½ 

  222 BCABAC +=  ½ 

  BD ⊥ AC   ½ 

  Δ ADB ~ Δ ABC    ( equiangular triangle )  
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 So,  
AC
AB

AB
AD

=  ( Sides are proportional ) 1 
 

  AD × AC  =  2AB  ... (i)  

 Also  Δ BDC ~ Δ ABC    ( equiangular triangle ) 

 
AC
BC

BC
CD

=  
 

  CD × AC  =  2BC  ... (ii) 1  

 (i) + (ii) 

 22 BCAB + = AD × AC + CD × AC  

 22 BCAB + = AC ( AD + DC ) 

 22 BCAB + = AC × AC   

  222 ACBCAB =+  ½ 4 

 39. 

 

Ans. :  

   2x + y  = 8  

  y  =  8 – 2x  

 x 1 2 3 4 5 

y 6 4 2 0 – 2 
 

 

   x – y  = 1  

  y  =  x – 1 

 x 1 2 3 4 5 

y 0 1 2 3 4 
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  Tables — 2 

 Drawing the lines of two linear equations —  1 

 Identifying the values of x and y  —  1 4 

 

  

Scale 
x-axis = 10 cm = 1 unit 
y-axis = 10 cm = 1 unit 
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 40. 

 

Ans. :  

   x =  

x + 19 =   

x + 15  =   ½  

  x = 480 ½ 

i.e. ( x + 19 ) ( x + 15 )  =  480  

 2x  + 19x + 15x + 285 = 480 

2x  + 19x + 15x + 285 – 480 = 0 ½ 

 2x  + 34x – 195 = 0 ½  

 Last term :   – 195 =  + 39 ×  – 5 

Middle term : + 34 = + 39 – 5 ½  

 ∴ 2x  + 39x – 5x – 195 = 0  

  x ( x + 39 ) – 5 ( x + 39 ) = 0 ½  

  ( x – 5 )  ( x + 39 ) = 0  

 x – 5  =  0 x + 39  =  0 

x  =  + 5 x  =  – 39 ½  

   ∴ ½ 4 
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 ( b – c ) 2x  + ( c – a ) x + ( a – b ) = 0 

 a 2x  + bx + c  =  0  

 a = ( b – c ) b  =  ( c – a ) c = ( a – b )  ½  

    Δ = 0  ½  

 Discriminant   Δ = acb 42 −   

  ∴ 0 = acb 42 −  

  2b  – 4ac  =  0 ½  

 ( c – a ) 2  – 4 [ ( b – c ) ( a – b ) ] = 0 ½  

 2c  – 2ac + 2a  – 4 [ ab – ac – 2b  + cb ]  =  0 ½  

 2c  – 2ac + 2a  – 4ab + 4ac + 4 2b  – 4cb  =  0  

 2a  + 4 2b  + 2c  – 4ab – 4bc + 2ac  =  0 ½  

  ( a – 2b + c ) 2  = 0 ½ 

 a – 2b + c  =  0 

  a + c  =  2b   

  ∴   2b  =  a + c    ½ 4 
 
 
 
   


